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Area of a Square = s2
Area = s2      
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Area of a Square = s2
Area = s2      

	Are of a Rectangle


[image: image3]
Area = (l)(w)


	Are of a Rectangle
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Area = (l)(w)




	Triangles

Area = (.5)(b)(h)  
(b - base) =   6mm  
(h-height)= 4.5mm                               
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	Triangles

Area = (.5)(b)(h)                                    
(b - base) = 5cm. 
(h - height)=2.5cm.
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Trapezoid: Area of a Trapezoid 

A = (.5)(h)(base1 + base2)
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Find the area of the trapezoid, if:
base one = 6’

base two = 3’

height = 5’

Question: If the area of the inscribed triangle is 16 sq ft, what is the area of the shaded part of the figure?
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(l) = 7m�(w) = 3m





(l) = 11ft.�(w) = 4 ft.





Try This One!�If you dare!!!
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